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oQI2Y 83,5202 x1&»b e 7,935
oFFrd 83,520 * 12 »2/5+48L 1,604
oMz M
2,160« 1«95 206
oMeEER 1,400,0002 *14] 1,400




SA E
U 225 £ AM(SNYLA/AY - AHE)
Hel MERAANLE = ¥ 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oOtMAY=E S 7Y 100,000 1 100
201 er23| 9,600 11,000 1,400
01 At22te|Hl 2,400 3,600 1,200
Odgt+==H| 2,400
oROI=MEH ANES 22BE 2,400
~HYET, OHfE S
200,000 * 122 2,400
2 35234l 7,200 7,400 A200
Os&82= € MA 6,000
oROt=HSE 2
300,000& * 128 3,600
oROI=MEd dot=Z AR
150,000« 12& 1,800
oROl=MEd St=
50,0002 123 600
ONASFHIS X 1,200
SROEMEE ALS 470 46 L R
Xl2el 600,000 23] 1,200
206 MH=H| 2,400 3,800 21,400
01 MHZH| 2,400 3,800 1,400
OMZHl 2,400
oROI=MEE ANE= JH|l AN 7 2
el 200,000 x35+23] 1,200
o70lzMEd =38 7Y
200,000 x35+23] 1,200
401 Al HIZL 201 50,000 80,000 230,000
01 Al&H| 49,460 79,676 /30,216
FOt=MEE AEE =Al - 2
50,000,000 *98.92/100 49,460
03 AIZ2THYI 540 324 216
FOF=MEE AEE |A - 22
50,000,000& +1.08/100 540
Fots w=E 24 51,000 51,000 0
= 25,500
Al 25,500
401 Al HIZL 201 51,000 0 51,000
= 25,500
Al 25,500
01 Al&HI 51,000 0 51,000
S0k IS SHMY
51,000,000& » 14 51,000
= 25,500
Al 25,500
=ofld MESANE2Y 29 - X2 28,666 25,500 3,166
= 14,333




SA E
U 225 £ AM(SNYLA/AY - AHE)
Hel MERAANLE = ¥ 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,333
401 AIEHIX 20 28,666 0 28,666
= 14,333
Al 14,333
01 AlZ8| 28,666 0 28,666
O=dld 2EA 28,606,000 * 14! 28,666
= 14,333
Al 14,333
SAESXLIE 2 K (HEA) 72,000 69,000 3,000
= 36,000
Al 36,000
101 @124H| 72,000 69,000 3,000
= 36,000
Al 36,000
04 JIZtN2Z2 XS 2+ 72,000 69,000 3,000
O Al=X2eld 24,000
Q2 2,370,000 «1&*10& 23,700
[ 11,850
Al 11,850
o=t 200,000« 1 200
= 100
Al 100
oW =FH| 100,000& *1& 100
== 50
Al 50
Ostuws=3ACIHI0IE 24,000
o2y 2,370,000 «1H*10& 23,700
= 11,850
Al 11,850
oIl =d| 200,000& *1 200
s 100
Al 100
oSyl 10,0002 %1 100
== 50
Al 50
O=Zd ST Al 24,000
oQIFY 2,370,000 «1E+102 23,700
s 11,850
Al 11,850
oIl =H| 200,000 *1 200
== 100
Al 100
o =H| 100,000 1 100




SA E
MM DB & AM(SEHLSA/AL - AE)
Cl: MEISUAL =4 Y 2F (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50
Al 50
SO0t = HE 2 (A 20,000 0 20,000
= 10,000
Al 10,000
401 AIEHIX R0 20,000 0 20,000
=S 10,000
Al 10,000
01 AlZ28| 20,000 0 20,000
OR0ts n=F 2 A
20,000,000 * 14! 20,000
< 10,000
Al 10,000
dEzs 54 454,671 847,710 A393,039
= 91,565
< 10,657
Al 362,449
CAl= - H2ele 29 103, 131 100,000 3,131
= 51,565
== 5,157
Al 46,409
401 AIEHIZ SR HYI 103, 131 0 103, 131
= 51,565
= 5,157
Al 46,409
01 AlZ2H| 103, 131 0 103, 131
OmAB2I SAAS
103,131,000 * 14! 103, 131
= 51,565
= 5,157
Al 46,409
A0tEDE &4 130,000 130,000 0
= 40,000
= 4,000
Al 86,000
401 AIEHIX R0 130,000 130,000 0
= 40,000
= 4,000
Al 86,000
01 Al&H| 128,740 129,064 N324
OADIEIE =4
80,000,000& *99.10/100 79,280
= 39,640
= 3,964




2A:

NE: HDE & EH(STHALL/YY - AE)
oel: ZY2S |H EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
Al 35,676
OADIEIE =4&(
50,000,000& +98.92/100 49,460
03 Al 20HHI 1,260 936 324
OADtEI=E &8 80,000,000& *0.90/100 720
= 360
== 36
Al 324
OADIEIE =4&(
50,000,000& *1.08/100 540
JEEEI &4 6,800 6,800 0
= 1,500
Al 5,300
307 @120l & 6,800 6,800 0
== 1,500
Al 5,300
05 2IR”IRIE = 6.800 6.800 0
ORIt &d ASUF 6,800
oJ| =gt 850,000 x8H 6,800
= 1,500
Al 5,300
folsdl =252 I3 A=Y 214,740 310,910 A86,170
201 er2&y| 9,880 10,920 1,040
01 AtR2t2|HI 8,000 8,800 A800
Oo=g=g 1,600
o0l==Al 23 MEARD 4 =E
100,000 8 »23] 1,600
Oogxt= 6,400
oFAzel X
800,000 *1CH+8E 6,400
02 S3=gHl 1,880 2,120 A240
OsE2= & HA 600
odd W B2x¥ Mg
10,0003 *5I A+ 12 600
OXtgrdet] 1,280
oFzel & FFU
1,6002+80 £ «10& 1,280
202 04| 860 990 A130
01 =LHO LI 860 990 A130
Odaael g2 =
20,0003 x3E 72 420
OZEZ3AIER AT A
110,000 x2EH+22 *13] 440
206 M=l 4,000 5,000 21,000




A A
HH: 22s &= T (NS LY - AE)
thel: A2t |4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 M=l 4,000 5,000 A1,000
ozZ=zmY 22 W 2Y
4,000,000 14 4,000
401 A& B2 20HY| 200,000 244,000 244,000
01 AlEHI 198,380 242,301 A43,921
O=eclsul =22 & =4
50,000,000 *x3JH A-*99.28/100 148,920
OsdE NI2EY =4
50,000,000 %38.92/100 49,460
03 Al CHHI 1,620 1,699 AT9
O=clsul 2= g2 =4
50,000,000 & 31 2-*0.72/100 1,080
O=z4d=s =83 =4
50,000,000 *1.08/100 540
25 2 JIBAE == 8,497,286 8,193,000 304,286
= 2,219,875
s 531,300
& 776,300
Al 4,969,811
&= 2 X CHEY 579,466 616,541 A37,075
201 2| 63,030 73,030 210,000
01 At 22|l 40,200 43,800 A3,600
Oget=2H| 2,400
cMEHE EE= ME
400,000 x5& 2,000
oYUM BARE U BT 7Y
10,0003 *8Z+5H 400
Oul=t| 7,800
oft=L5 QIRURA M=8sts 72
195,000 x40 7,800
O=Hl 27,000
oftEXSH FHO A 2+Al]
3,000 & *500H *23] 3,000
o5 - ¥ -3 A4S0 AdRA & oY &
= 8,000& 250 S HS+120 24,000
ogxtz 3,000
oYStHAlL FHIZ EH| Xt
500,0002 32 *23] 3,000
02 32| 22,830 29,230 6,400
OAIE &I XIY| 22,830
op=ELAIZL RA
200,000& =110 2 2,200
U=NRE I RX 2,240
-JIXl= 50,0003 *20CH 1,000
-S0E 10,0002 = 124CH 1,240
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SA E
M 28 = Dd(sgHLA/Y - ME)
ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,563
=S 2,953
Al 6,891
01 AtR2t2|HI 4,407 4,140 267
O=gH| 4,407
oMEXISHH S4lH 4,407,000+ 14 4,407
= 1,763
=S 793
Al 1,851
® ZZ2H| 2,000 12,000 0
ON&ZHIR X 12,000
SN EREIERS
2,000,000 *6CH 12,000
= 4,800
< 2,160
Al 5,040
202 04l 3,620 3,400 220
= 1,448
< 652
Al 1,520
01 2LHoIH 3,620 3,400 220
Odt=dat&e £2SH| 20,0002 1814 3,620
= 1,448
== 652
Al 1,520
308 XXM SOIA 3,565 3,565
07 AX 2L FE= 3,565 3,565
OaZEY DSH AR
3,565,000 14! 3,565
405 AtatE = 16,210 16,052 N842
= 6,084
= 2,738
Al 6,388
01 ML ESFSHI 15,210 16,052 N842
OJfel detEdl - 15,210,000 * 14 15,210
= 6,084
= 2,738
Al 6,388
AHS Y XI CHEH (RH2) 114,300 23,400 90,900
= 24,920
< 11,214
Al 78,166
201 Ler23 | 14,300 22,600 A8,300




SA E
M 28 = Dd(sgHLA/Y - ME)
ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,720
=S 2,574
Al 6,006
02 S3=gHl 14,300 22,600 A8,300
Oss2= & HA 14,300
SMEUAY AXZAHAILAH(SAR)
130,000 *110CH 14,300
= 5,720
== 2,574
Al 6,006
405 AHaHE S 100,000 800 99,200
= 19,200
== 8,640
Al 72,160
01 TR ESF SHI 100,000 800 99,200
Out28s Rt 7 100,000,000 * 14! 100,000
= 19,200
= 8,640
Al 72,160
SEASIAIE RRIE2S 10,000 0 10,000
[ 3,000
Al 7,000
401 AlEHIZL SO 10,000 0 10,000
= 3,000
Al 7,000
01 Al&H| 10,000 0 10,000
OttE4aNE FA & 2=
10,000,000 * 14 10,000
= 3,000
Al 7,000
AT L Kt ER(MEX20LREH S) 800,375 750,165 50,210
= 320,189
= 96,044
Al 364,142
101 21A4H| 760,990 710,780 50,210
= 304,435
= 91,318
Al 365,237
MU IIRINZZENSES 760,990 710,780 50,210
OM=HEU Y a2 760,990
Sub 692,646,000 14! 692,646
= 277,058
= 83,117




SA E
U 225 £ AM(SNYLA/AY - AHE)
ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 332,471
oHEE 58,344,000 * 14! 58,344
= 23,377
= 7,001
Al 27,966
oZ2fs 200,000& 50 10,000
= 4,000
= 1,200
Al 4,800
201 fer= 3| 39,385 39,385 0
= 15,754
= 4,726
Al 18,905
01 AtR2t2|HI 34,000 34,000 0
Oul=H| 10,000
oMEASEAA 222
200,000 *50& 10,000
= 4,000
= 1,200
Al 4,800
Oogxz 24,000
oN=RY ESAE S
6,000,000 =4 CH 24,000
= 9,600
== 2,880
Al 11,520
2 35244l 5,385 5,38 0
OXtg - &=t 5,385
ott=dY ESXY 7RU
1,346, 2502 *40H 5,385
= 2,14
= 646
Al 2,585
SAETHHL X (A ST 20 LRSI X ASZAIR) 659,472 642,922 16,550
101 @12A4H| 652,407 635,300 17,107
04 JIZtN22 XS 2+ 652,407 635,300 17,107
OttEH AR &2 ZAl 652,407
Q12 78,8803 x54H x5 x20%= 425,952
oFFsd 78,8803 x4 H x 12«20 85,191
cdaas 2dE
6, 8002 *54 x6 2 x20% 44,064
SR 97,200,000/ *14! 97,200
201 et 3| 7,065 7,622 A557
02 s3=gbl 7,065 7,622 ADB57




SA E
U 225 £ AM(SNYLA/AY - AHE)
Hel AEES I JIBE =5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od =t 5,145
oM TSI DA HHE RS
1,31921%15 4 %274 21302 5,145
Oxtg - Hety| 1,920
YT SR
1,600 *15 £ *4TH*202] 1,920
ANEER22 2H(EX) 41,440 41,440 0
= 41,440
301 2= 41,440 41,440 0
= 41,440
0 AMSRREES 41,440 41,440 0
OAl =R 1|
41,440,000 *14] 41,440
= 41,440
a-dx & =A2c 171,870 135,445 36,425
101 @12A4H| 107,730 115,425 NT,695
04 JIZtNZ22 XS 2+ 107,730 115,425 AT,695
OYUTEY| ol
192, 3752 x 102 +x28 2 +23] 107,730
201 223 12,500 17,800 25,300
01 At22t2ltl 4,000 8,000 24,000
Ogit=3H| 4,000
o& OHHE HHI 800,000 *50H A 4,000
02 S3=gl 8,500 9,800 1,300
OAIE EHIS Xl 8,500
o3k FHIE 24 |Al2
3,000,000& *14] 3,000
oYTH EHD| Byl B2l L A2E Y
1,500,000 *14] 1,500
o ZHDI B B2
1,600& %50 £ =50 4,000
202 04| 640 720 A80
01 =LHOHI 640 720 A80
Ogk A8 B4 20,0003 x2E»23]~8E 640
206 MH=HI 1,000 1,500 A500
01 MHZHI 1,000 1,500 2500
Ok SHE A= 7Y
1,000,000 *17H A 1,000
401 Al HIY S CHYI 50,000 50,000
01 A28l 49,460 49,460
O=dt A8 8k 57
50,000,000& +98.92/100 49,460
03 A& S CHYI 540 0 540
Ot M8 &k 5+
50,000,000& *1.08/100 540




SA E

U 225 £ AM(SNYLA/AY - AHE)

ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LA (KL REAE) 759,000 437,137 321,863

= 531,300
== 45,539
Al 182,161
401 AlEHIZL SO 759,000 437,137 321,863
= 531,300
=S 45,539
Al 182,161
01 AlZ28| 754,219 433,990 320,229
OYTAIE (Y T)
759,000,0002%99.37/100 754,219
= 527,475
= 45,212
Al 181,532
03 Al 20HHI 4,781 3,147 1,634
O T AIE (242 E)(0.72%)
4,781,000 14 4,781
s 3,825
s 327
Al 629
LT AIE (HEALY) 302,500 285,715 16,785
S 211,749
Al 90,751
401 AlZHIZL SO 302,500 285,715 16,785
= 211,749
Al 90,751
01 Al&H| 300,322 283,658 16,664
OUCAIE (HEAY)
302,500,000 %99.28/100 300,322
=S 210,225
Al 90,097
03 A& CHYI 2,178 2,057 121
O AL (HEtALY)
302,500,000& *0.72/100 2,178
= 1,524
Al 654
25 it & 8 Y| 80,000 90,000 10,000
S 20,000
Al 60,000
401 AlZHIZ SO 80,000 90,000 10,000
== 20,000
Al 60,000
01 Al&HI 79,280 89,190 29,910




SA E
U 225 £ AM(SNYLA/AY - AHE)
Chel: MEES L JIEE &5 EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
OEz#+ 2it+s & =8 Y|
80,000,000& *99.10/100 79,280
= 20,000
Al 59,280
03 AIESTHYI 720 810 A0
254 it & FH J
80,000,000& +0.9/100 720
B85 2 L 22l (KHAl) 10,720 10,800 A80
202 04l 720 800 A80
01 2LHoIH 720 800 N80
OEs= & s 22l U0l
20,0003 x2& ~ 18 720
401 AIZHIX S0HH 10,000 10,000
01 AlZH| 10,000 10,000
OE&= ¢ Lo Zel(XHA)
10,000,000& * 14! 10,000
AHEEALS 4,240 5,240 21,000
201 =3 4,240 5,240 21,000
01 At2t2lt] 4,240 5,240 A1,000
Oggt=3H| 2,400
SOPAIHFH R 228 &l 2L
80,0003 #3074 A 2,400
O=g=¢g 1,200
SAHALEY FHUXS X8 AR B4 =&
100,000 6 & =22 1,200
O=se| 640
ot Mol HIa22 B0 SAHI
8,000 x4 »203] 640
AFEEALSE 2tel 20,000 36,100 16,100
401 AIEHIZ SR 0HYI 20,000 36,100 /16,100
01 AlZ8| 20,000 36,100 A16,100
OLHALER & XS THol S5 S+
20,000,000& *14| 20,000
AZAIY EOtEE - QAR 8,655 8,660 A5
= 6,059
< 1,298
Al 1,298
401 Al HIZL S 0HYI 8,655 8,660 YaNs)
= 6,059
=S 1,298
Al 1,298
01 AlZ28| 8,655 8,660 YaNs)
OAtZAIY EOIEE - et A 8,655
AZAIE 2 EH 8,655,000 14| 8,655




SA E
M 28 = Dd(sgHLA/Y - ME)
ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,059
=S 1,298
Al 1,298
ANZAIE ZEAS 693,750 887,500 193,750
= 485,630
= 104,063
Al 104,057
401 Al HIZ R OHHI 693,750 887,500 193,750
= 485,630
= 104,063
Al 104,057
01 A28l 688,755 881,110 A192,355
OAr 250,000,000 *2JH 2~+99.28/100 496,400
= 360,000
= 75,000
Al 71,400
OAREH 193,750,000 * 1km*99.28/100 192,355
= 135,630
= 29,063
Al 27,662
03 AIZ 2 THYI 4,99 6,390 A1,3%5
OAr 250,000, 000& *27 2-+0.72/100 3,600
OHFEH 193,750,000&  1km+0.72/100 1,395
AZAIE FXI2tel 71,000 0 71,000
= 14,700
=S 3,180
Al 53,150
401 Al HIZ R OHHI 71,000 0 71,000
= 14,700
= 3,180
Al 53,180
01 AlZH| 71,000 0 71,000
OArgizie|(E4) 21,000,0003*14] 21,000
= 14,700
= 3,180
Al 3,180
OAMZAIE SRI22l(KHA)
50,000,000& »14! 50,000
SEAFERTH = A T 5,600 0 5,600
= 2,800
Al 2,800
201 el 5,600 0 5,600
= 2,800
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SN AR
B 228 2 ZH(sS jeiet - arE)
Gl MEES I JIEAIE 2 HA)
M- B SRASH) - HRAR - B2 of v e HIDE2
OUYEHE THE %M (LEH, &4T3A,
EZI=M) 45,000,000 *14] 45,000
= 31,950
< 2,700
Al 10,350
401 AlZHIZ SO 3,300,000 3,000,000 300,000
= 1,036,359
[ 228,019
Al 2,035,622
01 A&t 3,267,040 2,989,200 297,840
OLEHHE YH(ALUSTHES S)
3,000,000,000& *99.64/100 2,989,200
= 1,036,359
< 168,019
Al 1,784,822
OALIRTASY ESH0I M)A
300,000,0002%99.28/100 297,840
= 60,000
Al 237,840
03 AlESTHYI 12,960 10,800 2,160
OLYHHE LH(ALLTHAEES S)(0.36%)
10,800,000 * 14! 10,800
OAURMHESE ESHOI HHAL
300,000,000 *0.72/100 2,160
2URE 0lSHS 91,240 87,560 3,680
= 45,620
& 13,686
Al 31,934
101 @124H| 84,853 81,240 3,613
= 42,427
S 12,728
Al 29,698
M ORNZZ2NSE S 84,853 81,240 3,613
OatdgolE HZYMH 2 ALUSF 05 ©
= 1,885,620 x6E + 1 Z2+0F 84,853
= 42,427
== 12,728
Al 29,698
201 er2 3| 6,387 6,320 67
= 3,193
== 958
Al 2,236
01 At22t2l] 6,387 6,320 67
O2U=2% 018 24d 2374
6,387,000 +14] 6,387
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SA E
U 225 £ AM(SNYLA/AY - AHE)
ool MEIRS U DUl EE (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 769
Al 1,798
405 AHaHE S 5,147 6,440 A1,293
= 2,580
== 769
Al 1,798
01 AL =S F=HI 5,147 6.440 1,293
OHHE YRS Tl 7Y
5,147,000+ 14 5,147
= 2,580
== 769
Al 1,798
&K E 3t 6,000 6,000 0
401 Al HI2L 20 6,000 6,000
01 Al&tt] 6,000 6,000
OMTHE HIIZ +H L Hel
2,000,000 #32] 6,000
PS4 otA 2| MEZAL 15,000 15,000 0
= 7,500
Al 7,500
401 Al HIZ R 0HbI 15,000 15,000 0
= 7,500
Al 7,500
01 Al&HI 15,000 15,000 0
PS4 QtM e MEZAL
500,000 *307H A 15,000
= 7,500
Al 7,500
ZE=NSUEL(FEL XML/ RALTAI) 3,421,603 4,324,349 A902,746
7l 150,000
= 550,000
Al 2,721,603
J2ed g 3,421,603 4,324,349 A902,746
Il 150,000
= 550,000
Al 2,721,603
CAlE T (MEEI=)(HEAMNY) 300,000 0 300,000
= 150,000
Al 150,000
401 Al HIZ S 0HbI 300,000 0 300,000
s 150,000
Al 150,000
01 Al&HI 297,840 0 297,840




SA A
BH: ZE=XRAEN(REUXANL/KALTA)
cel: Jl2ed xene (SHol: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O2024d Metetds T (MEAY)
300,000,000 +99.28/100 297,840
== 148,920
Al 148,920
03 Al = THHI 2,160 0 2,160
Q20248 MEedE I (HEAY)
300,000,000& *0.72/100 2,160
< 1,080
Al 1,080
SNz ZH(EnE)(MEAIY) 100,000 60,000 40,000
== 50,000
Al 50,000
401 AlEHIZ S 0HBI 100,000 60,000 40,000
= 50,000
Al 50,000
01 AlZHI 99,100 59,460 39,640
ORHEst stuz TH(MEAY)
100,000, 000&*99.10/100 99,100
= 49,550
Al 49,550
03 Al CHYI 900 540 360
ORHZEs stuz TH(MEAY)
100,000,000 *0.90/100 900
= 450
Al 450
SAlE ZH (A Jt2 ) (HEAL) 200,000 300,000 100,000
S 100,000
Al 100,000
401 AIEHIZ R HYI 200,000 300,000 100,000
< 100,000
Al 100,000
01 Al=H| 198,560 297,840 99,280
Odete 84 22 =4
200,000,000 *99.28/100 198,560
== 99,280
Al 99,280
03 AIE 2 0HHI 1,440 2,160 AT20
Odete d9 Jtiz+=2Z X4
200,000,000& *0.72/100 1,440
= 720
Al 720
CAlE ZH(HEE 1242 (MEAIY) 500,000 300,000 200,000
== 250,000
Al 250,000




SA AE
Y FESNSUEE(SERXNAMNL/NALCAI)
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 500,000 300,000 200,000
= 250,000
Al 250,000
01 Al&H| 496,400 297,840 198,560
OBE N4y x4
500,000,000&%99.28/100 496,400
=S 248,200
Al 248,200
03 A& S CHYI 3,600 2,160 1,440
OBE J24Y 54
500,000,000& *0.72/100 3,600
= 1,800
Al 1,800
CAlE Zd(dery Dels) 300,000 100,000 200,000
Jl 150,000
Al 150,000
401 AlZHIZ SO 300,000 100,000 200,000
Il 150,000
Al 150,000
01 Al&HI 297,840 99,100 198,740
OXtdets Jgl= &4
300,000,0002%99.28/100 297,840
Jl 148,920
Al 148,920
03 A2 THYI 2,160 900 1,260
OXtH ety Jdels =4
300,000,000& +0.72/100 2,160
Il 1,080
Al 1,080
2 2l 1,119,448 1,397,010 AN2[7,562
101 @124H| 778,934 953,010 A174,076
M ORNZZ2NSE S 778,934 953,010 A174,076
Otz & D=3t 22 399,490
oSHIS 197, 45024 +424 522247 121,630
SRS 277,860
- o1l 78, 88024212 x22 2472 255,008
-y g 5,000 x1H 2272 770
-4 2
6,800 x21H+22+7H 21,992
O=& & FRE2Y ZHDH(E=2R) HY 148,021
oSEeIR 197,450 x4 H+22 L« 7 E 121,630
o=2S02 26,391
-2 78,8803 x2H 222 +7H 24,296




SN AR
M ZE=SXSURLE(SELXSENL/NALTAI
chel: Jl2e AR (Hol: &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
“NEAD Daag
6,800 x2&»222U 73 2,095
OAIJHA =28 D24 ATHAI EH0| 148,021
oSgoIL 197,450 x4 B 22U+ 7 121,630
oHs0IR 26,391
- o1l 78,8802 xR 522247 24,296
~ MBI BESY
6,800 x2S 222 +7E 2,09
OMoid Jt2+ & T+ SAHY 7,079
oSHeIR 197,450 x5 +5& 4,937
o2SeIR 2,142
— ol 78,8802 453 x5! 1,972
~ MBI BESY
6,800 x5 +5& 170
Otz Wotad 28,275
o2SeIR 28,275
-y 78,8803 5 H 222 x3E 26,031
—dEds Bl
6,800 6222 +33 2,244
OAtzlEg & 48,048,000 14 48,048
201 er23 | 68,814 87,500 A\18,686
01 At2teltl 37,430 53,180 15,750
Oget+=ZHI 4,800
otz & JIZstH 2R HEES
Y FT g 80,0002 x202+33] 4,800
osg+y 2,400
oL AI=S JIRINZ2 2 HERE =5
200,000& x3E *22] 1,200
oL ANE & &4 - 22l 82 ?2s F4
=g 100,000 6 »23] 1,200
OYxt=z 30,230
oHoll Lol Jt=24= U= 4|l Xt 3,630
—3de! 660,000& *32 1,980
—=24)| 550,000 *32 1,650
otz & JIZotH 2l HYXE SRt
700,000 x 123 »1CH 8,400
oJtZ= A JIZStE 22| R =EXE
Xt 700,000 8 2CH 11,200
o=g UHl s+=xtg St
7,000,000 *14] 7,000
02 324l 31,384 34,320 2,936
OAI2&BI= X 16,280
oSHEHI 12,720
— =4l 80,0002 = 10CH 800
-SRUEFYS) 1,600 900 £ 83 11,520




A A
Hal: Z2=J DAL (RELXANL/XHLEAI)
H?el JtlzEd Tdael (St &)
= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
-2¢ 5 22 7Y 100, 00024 #42 400
=2 =it |2l 3,560
— =] 500,0002 *1CH*23] 1,000
-SEFUHEYR) 1,600 *400 4 4 2,560
OJtz= & JiZ2stH 2te| HUxed S
1,600 %320 4 *12& 6,144
OJt2s & Jt2stH 2e| 91 =E8XE &
S 1,600 %350 £ *8& »2CH 8,960
202 04dl 1,040 1,200 A160
01 =LHO4 b 1,040 1,200 A160
Oitz & It23e 22|
20,0003 x4 * 133 1,040
206 =8l 40,660 50,300 A9,640
01 M=l 40,660 50,300 29,640
Oz & = 22ESF P 34,910
oxXdE Hlg 7 27,0002 x250 % 6,750
o SFRIF 2 (3B) 26,4002 2005 53] 26,400
SIIEHRM(EY 8) 22,0002 80K 1,760
OMolitile ===+ & 228 I 2
10,000 *150% 1,500
OJtzsiet HAg +279
5,000& +850=F 4,250
401 A& HIZLS0HY| 230,000 305,000 A75,000
01 Al&HI 227,516 301,850 AT74,334
OJt24 e &KX Jhl
50,000,000 *38.92/100 49,460
OQHIAHZ 2T w2| S5 &)
30,000,000 *98.92/100 29,676
OJt22 FHl(==Al)
50,000,000 *38.92/100 49,460
Otz ey HolsA
50,000,000 *38.92/100 49,460
OdH 22E Itz B4
50,000,000 *98.92/100 49,460
03 AlE 2 CHYI 2,484 3,150 666
OJtz24 el ==X 3|
50,000,000 *1.08/100 540
OetalaHd B 2| S J|
30,000,0002*1.08/100 324
OJt2= ZHI(+=Al)
50,000,000 *1.08/100 540
OJt2s Zetd dol Sl
50,000,000 *1.08/100 540
OLP 22 IS A
50,000,000 1.08/100 540
otz dFALE 215,000 50,000 165,000




SA AR
Mo ZE=lBAXY(SELNANL/XSLTAI)
Chel: D28 T4zl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
401 AIEBIZ20HbI 215,000 50,000 165,000
01 Al&HI 212,822 49,460 163,362
OZAX 24 ®F
80,000,000 *99. 1/100 79,280
O3t LIR-NE Jt24 &
50,000,000 *38.92/100 49,460
OAEZ BIL2LOFAICE 124 BE
45,000,000&+98.92/100 44,514
ONEZ 124 ®EF
40,000,000:&+98.92/100 39,568
03 A& 2 CHYI 2,178 540 1,638
OZAX 24 ®F
80,000,000& *0.9/100 720
OBt LIE-HE iR M
50,000,000 *1.08/100 540
OANEZ BILetOFAICH 2L BE
45,000,0002*1.08/100 486
ONEZ J124 ®F
40,000,000 *1.08/100 432
SY=Zelt & Jt23te Jh| 230,000 230,000 0
401 AIEHIZL 200 230,000 230,000
01 Al&H] 227,516 227,516
O=&17ad =8 =X0 22l
50,000,000 *38.92/100 49,460
OZAX SRt 2235
50,000,00021%98.92/ 100 49,460
OXNEX HECRH NSA AR
50,000,000 *38.92/100 49,460
OFA=22IU L JI23IE 22 WH
50,000,000 *38.92/100 49,460
OFEIIZSY AR
30,000,00021%98.92/100 29,676
03 Al CHYI 2,484 2,484 0
O=RE7sM =8 =X0 22
50,000,000 *1.08/100 540
OAN =22t S3FY|
50,000,000 1.08/100 540
OXNEX HECTRH NEA AR
50,000,000 *1.08/100 540
OFU=22IU L JI23IE 22 WH
50,000,000 *1.08/100 540
O&EIIZLZ BHFY|
30,000,0002!*1.08/100 324
Jl24 L JI2EE FUI(2IHAte) 90,000 30,000 60,000
401 AI&HI L 20| 90,000 30,000 60,000
01 AlEHI 89,136 29,676 59,460




SA AE
BH: ZE=XRAEN(REUXANL/KALTA)
Chel: D28 T4zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Jrtel Itz & S22l 23
e=Jull 60,000,000& *99.1/100 59,460
OZOHIEI OIMIRIRIRIE % B2y
30,000,000& +98.92/100 29,676
03 Al 20HHI 864 324 540
O=Jrel Jizete & S22l &3
=l 60,000, 000& *0.9/100 540
O=Jretetl OIMZHXIR = 2E 8|
30,000,000 +1.08/100 324
SN0 & AF2E 2 2datel 167,155 147,339 19,816
101 21A4H| 31,775 36,539 N4, 764
04 JIZtN2Z2 XS+ 31,775 36,539 N4, 764
Ooggr=sil € UHEeE Mz 31,775
orEoR 31,775
—oley 78,8802 4522220 x32 26,031
— MBI BESY
6,800 x5 *22& <3 2,244
- A2 = 3,500,000 *14] 3,500
201 =3 7,000 8,500 21,500
01 AtR2t2lt] 7,000 8,500 21,500
ER=lest= ]l 7,000
o=l & AF2E M==AY Ot 2
300&+10,000& 3,000
o=l # AF2E HY 2R ANES
9 xmeigp ol
100,000 x50 *43|x25 4,000
202 04| 2,080 2,400 A320
01 =LHOLI 2,080 2,400 A320
O Al=zt2ie| & =l
20,0003 x3& »202 1,200
OEAISSIAIE R &K A
110,000 x2& 22 #2353 880
206 MH=H| 5,500 6,500 21,000
01 M=4l 5,500 6,500 A1,000
OEAISSIAIERIN =228 A+
10,0002 +4002= 4,000
Oouetz 233 |4 & 2
1,500,000 *14] 1,500
301 EtE N = 10,800 8,400 2,400
14 DBt 2 a=S 10,800 8,400 2,400
Otz - =2l 8§ A4S HYS el
lol 22 600,000% * 182 10,800
401 Al HIZ R 0HHI 110,000 85,000 25,000
01 AlZ8| 109,028 84,568 24,460
OZHEU == & HIAAIZS FHI(==Al)
20,000,000& *14{ 20,000




A A
HE: ZE=X|DAEL(REUXHNL/NALEAI)
el Jt2Ed 42| (EEEE))
= - q L=
SA - B - G9I(30) - NIRAY - BES Ofl b A SimE==t
OLietZ 223t &4
40,000,000:&+98.92/100 39,568
OWAN s 0122 UEI2E =2 &X
20,000,000 *98.92/100 19,784
O=s &3z g=2&0] &AM
30,000,000 *38.92/100 29,676
03 AIE = CHHI gr2 432 540
OLietZ 223 &4
40,000,000 *1.08/100 432
O0A= 0|2Z2E U=sERE =2 &X
20,000,000& *1.08/100 216
O=s gz g=&0| A
30,000,0002!*1.08/100 324
=0 ¥ UFeld S3FHIAY 200,000 210,000 A10,000
401 AlEHIZ 200 200,000 210,000 10,000
01 Al&Hl 197,840 207,840 A 10,000
OXgE Ji2H & =X 20|
40,000,000:&+98.92/100 39,568
OEA=(8X=) =&X ZHDI
40,000,000&%98.92/100 39,568
OXFelE &H SHiD|
40,000,000&+98.92/100 39,568
Odiatxt= S0l & =HA
40,000,000:&+98.92/100 39,568
OYiia Lis= S S4XIF &8 ZH1D]
20,000,000 *38.92/100 19,784
O =&=2H sd=2HA
20,000,000 *38.92/100 19,784
03 Al = CHHI 2,160 2,160 0
OXZgE Ji2H & =X 20|
40,000,000 *1.08/100 432
OEA=(8X=) =4X ZHDI
40,000,000 *1.08/100 432
OXEe|E & SHI0I
40,000,000 *1.08/100 432
Odffetuxt2 EHID1 & d=HA
40,000,000 *1.08/100 432
OYiid Lis= S SAHKI7 &H ZH10]
20,000,000 *1.08/100 216
OZAX =28 HI=MA
20,000,000 *1.08/100 216
SN 2HAH|(AF ) (DIEHDIE 133,033 141,785 A8,752
ol 2| 55,29 54,118 1,174
ol 23| 55,292 54,118 1,174
101 @124l 55,292 54,118 1,174
03 SR (RIAHL) 22X B4 55,292 54,118 1,174




S AR
HE: A SHZH| (AR D (DIEHIIE)
el o2 g ECHRED
. L SIE]
SA - B S(BH) - MISAY - BAS Ofl K 05”55 HRS2
I EEEEEE,
16,888 7 H+20 Al 2Hx 122 % 150% 42,558
OMsiLM S2=27 Jl24 e oxa
ATHDEAD HE = =)
26 ,528& x6H 4 A| 2+x20L 12,734
Jl23| 77,741 87,667 N9,926
JlE2&H| 77,741 87,667 N9,926
201 LBt AY| 46,569 54,626 A\8,057
01 Al2ZHeld] 42,004 49,553 A7,549
OYBtAEH| Z o4 At
21,085,000 %14l 21,085
OBXAR 2oz XY= S
150, 000 & x7H *x23| 2,100
OS2 &d| SHH A 12,129,000 & « 14! 12,129
024, 22N BL| ZRA HFHA2}
2HAlH| 3,00021+724x2302 4,830
OMsHLM 2227 Jl2s Zex =y
AlH| 8,000 x6H x20! 960
02 Bs24H| 4,565 5,073 A508
OZZR2 U ANA SHHA
4,565,000 14! 4,565
202 044| 26,372 28,241 A 1,869
01 2L Y| 26,372 28,241 A1,869
ORA2Y WA A 9,572,000& * 14! 9,572
O22(SHZ S42) SN2 2EF of
HI(ZL2!) 10,000 * 120 x 128 2,400
OJI24, JIZ23E SR ARF=E HI(
ZRX) 10,0002 65 x202 * 122 14,400
203 UREAIH| 4,800 4,800
04 BA2GYREA| 4,800 4,800
O4t2 H26H) 400,000 x12& 4,800




